Name__________________________________Period_____

Unit 2 Review

A nucleotide consists of what three parts?

1. 



2. 



3. 
When using Chargaff’s rule in matching base pairs you match Cytosine with ____________________________ and Thymine with ____________________________.

The central dogma of DNA is?

Give the complimentary strand of DNA for the following DNA strand.


GATAGCCGATTACGGATA

Give the complimentary RNA strand; Remember Thymine is replaced with Uracil

GATAGCCGATTACGGATA

What is a codon? What does a codon make?
What is a mutation?

Draw and label a diagram of the cell cycle, what is the purpose of the cell cycle?

Draw and label the steps of mitosis, what is the purpose of mitosis?

How many chromosomes does a human have?

Diploid: 
Haploid: 
Draw and label the steps of Meiosis, what is the purpose of Meiosis?

What is Genotype: 
What is Phenotype: 

What is Homozygous: 
What is Heterozygous:

What does it mean for a gene to be dominant?

Using a punnett square cross a heterozygous tall Tt pea plant with a heterozygous tall Tt tall pea plant.
What is incomplete dominance?

What is codominance?

What is a sex linked trait?

